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Question 1.Select the related word/letters/numbers from the given alternatives:

32 T et & | Tafa g/ 31eRl/gen & gl
Forecast : Future :: Regret : ?

YA &A1 : HiA™ ;TS e BAT : ?
Options:
1) Present

2) Sins
uy

3) Life
Sita
4) Past
fama

Correct Answer: Past

Candidate Answer: Sins
LIS

Question 2.Select the related word/letters/numbers from the given alternatives:

138 A faomed & § dafRia wea/srer/iem o1 ghul

DCEF : QPRS :: XWYZ : ?
Options:
1) SRQP
2) NMOP
3) STOV
4) IMGF
Correct Answer: NMOP

Candidate Answer: NMOP

Question 3.Select the related word/letters/numbers from the given alternatives:

32 T et & § Yafia sg/31eRl/gen & g
121:12::25:7?

Options:

1)5

2)6

3)7

4)8

Correct Answer: 6

Candidate Answer: 6

Question 4.

For the following questions

Find the odd word/letters/number from the given alternatives.

fufarad oy o G e fawmedt & I fawn rea/sier e &1 gAY 2
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Options:
1) Potato

5SS
2) Tomato

THICR

3) Ginger
3D

4) Carrot
TSR

Correct Answer: Tomato

Candidate Answer: Tomato

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

ffofed gy § fiiu e et & 9 fovm wres/siery/siem &1 gfHu ?
Options:

1) ACEG

2) KMNP

3) HILN

4) TVXZ

Correct Answer: KMNP
Candidate Answer: KMNP

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

Frafarad gy § i e fawed! & § fawn wrea/sier/wa &1 giR ?
Options:

1) 63-36

2) 45-74

3) 48-84

4) 26-62

Correct Answer: 45-74

Candidate Answer: 45-74

Question 7.Arrange the following words as per order in the dictionary
FrafaRad sl & eed 1 & 3T T 0 & SR fafgue 2

1. Tortoise 2. Torrid 3. Torso 4.Torque 5. Tortuous
Options:

1)4,2,3,1,5

2)3,2,4,1,5

3)2,3,4,5,1

4)4,3,2,1,5

Correct Answer: 4,2,3,1,5

Candidate Answer: 4,2, 3,1,5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
fofarad oy o w g foar T ], o e ue qw 81 3T T fawedt & ¥ a7 Wel fAiewey gRT o S H Bl R ?

PMT, OOS, NQR, MSQ, ?
Options:

1) LVR

2) LVP

3) LWP

4) LUP

Correct Answer: LUP



Candidate Answer: [ NOT ANSWERED ]

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
frofefad vy & e sy o 7, Sraw ue ue gw 81 T ¢ fawedt # 3 98 98l fased 9T S oy ol gy ?

206, 309, 412, ?, 618, 721
Options:

1) 751

2) 749

3) 515

4) 514

Correct Answer: 515
Candidate Answer: 515

Question 10.Pointing Rajesh in the photograph, Sunita said,' The only son of his mother is my father'. How is Sunita related to Rajesh?

BTG § 0T B 3R SR FHA §U G 3 g, " ST HTal 51 b A T TR el § 1 G 1 oy § o waiyf 8 2
Options:
1) Niece

2) Aunt
et

3) Mother
Il
4) Daughter

Correct Answer: Daughter

Candidate Answer: Daughter

Question 11.A, B, C, D and E are standing in a line facing North. E is standing 40 metres left to B. A is standing 20 metres left to C. D is standing 20 metres right to E
and 50 metres right to C. Where is B standing from D?

A,B,C D3R E U Ufek H SR BI 3R Tg $3P TS 7| E, B I TR 3R 40 Hiex BT g W TSI 21 A, C & T 31R 20 Hiex FT TR R WST S D, E & i 3iR 20 Hex 3t
AW 3R ¢ & arff ok 50 Hiex Ft g W @S B1 B, D I ol R iR fmr we1 8 2
Options:

1) 20 metres right

20 Hiex erff ok

2) 30 metres right

30 Hiex it 8k

3) 40 metres right

40 ex grff iR

4) 40 metres left

40 Tex arff iR

Correct Answer: 20 metres right

20 Hiex aRff ok

Candidate Answer: 20 metres right

20 Hiex grff 3k

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

Frafarad fawed & § 95 e IMT S 4T T Xeg & S1&R BT TRINT e 18! STl Sl Heobell 2

COMFORTABLE
Options:

1) FORT

2) TABLE

3) COMFORT

4) ROUTE

Correct Answer: ROUTE
Candidate Answer: ROUTE

Question 13.If A = 1, AND = 19, then ANT =?

TfE A = 1, AND = 19 Y, <V ANT fords sRTaR BT 2
Options:

1) 35

2) 33

3) 23

4) 19

Correct Answer: 35

Candidate Answer: 35



Question 14.If + means +, + means -, - means x and x means + , what will be the value of the following expression:

T '+ I AdAS <, '+ BT HAAS -, -' BT ATAS x 3R 'x' BT ATAS + 81, ol {3T 77T 7% &1 A T3¢ ?

8+4+3x5-9=7?
Options:

1) 44

2)53

3) 62

4) 64

Correct Answer: 44
Candidate Answer: 44

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

F% g0t Ffda yomell § g fbu e 81 S 3R R QU T et § A e SR gHeR Rf@u

8x5x0=805,7x4x6=764,6x8x9="7?
Options:

1) 689

2) 698

3) 968

4) 986

Correct Answer: 698

Candidate Answer: 698

Question 16.Select the missing numbers from the given alternatives

feu e w9 g s I i ?
12 8 a
8 a 12
a 12 8
100 a4 ?
Options:
1) 56
2)48
3) 38
4)36

Correct Answer: 56
Candidate Answer: 56

Question 17.Anitha walked 20 km towards north. Then she turned right and walked 30km. Then she turned right and travelled 35 km. Then she moved left and
walked 15 km. Finally she turned left and walked 15 km. In which direction was she from the starting point?

¥ 20 fobefiier IR T iR =l | b= I8 QT Gor 30 fbelieiiex =reh, b= A 97 3T Fod 35 fhaiex =l bR 98 ig gt ok 15 fbalirfiex =eft| a8 URfv®
YF AP RWAR ?

Options:

1) South

afgmo

2) North

IW

3) East

4) West
Correct Answer: East

Candidate Answer: East



Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. No man is @ Monkey. 2. Hari is a man.
Conclusions: 1. Hari is not a Monkey. II. All men are not Hari.

Frofarad oy & te o1 <) gaden 38 T B, s m & s S/amaamy, 18R 11 Ao M €1 3ueh! U § o dader 9 § 918 98 I X et § e urelia g
g1 3! Fofa & R 6 ou e aaqer & @ e fAfda &0 3 T8t Feesy/amaan e o S g ?

THIA : 1. P e TR TR 2
2. 8R arerft 81

s : 1L sR Fr T R

& sreft sR T 31

Options:
1) Only conclusion I follows

19613
2) Only conclusion II follows
Had ey 11 91 71
3) Both conclusion I and conclusion II follow
faspy 1 3R 11 ST T B 1
4) Neither conclusion I nor conclusion II follows
T ey 19 R ofR AT & e 11 W R
Correct Answer: Only conclusion I follows

Pac ey 1 981 R

Candidate Answer: Both conclusion I and conclusion II follow

e 1 @ik 11 A g B

Question 19.Four positions of a cube are shown in the diagram. Which color is opposite to Green color in the given cubes?

Ffifad oy § te o7 § IR Rufqal cofd 78 §1 fiw 7 o= # ¥ 3 S g pH-an g ?

Options:
1) Blue
e

2) Yellow

diar

3) Orange

Birull

4) White

Sl

Correct Answer: Orange

Candidate Answer: Orange

Question 20.Which of the following figures correctly represents the relations between: Doctors, Lawyers, Professionals

I8 3TPla U S Frafied A0 & 9 adt T 3 auid 8|
S, g@ial, aaara®)
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Candidate Answer:

Question 21.Which answer figure will complete the pattern in the question figure?

DHH-U SR ATHA U B & Tfaey (Ye) -1 Haft ?

baé
™

poge




Options:

1)
]

2)

3)
]

4)

Correct Answer:
]

Candidate Answer:
]

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

&) TS TR pTadl B A I IR NPT B gAY o uy 3pla MR € 2




Options:

1)
N\
s

2)
3) /

7

/

4 /
Correct Answer:
Candidate Answer:/

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

e it Tt B - 33T Uy & SITAR MSHR HIeT S dl WieH & 91 98 fhd SR i Si fars 3 2




Options:

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

I T U BT MN a1 TR T 918 A <t 7T IR SMpiaa H ¥ - pfa Uy spfa o1 Igt ufafsw gl

7 7 7 7 7 7z




Options:

1)

X
2)

X
3)

X
4)

Ped
Correct Answer:

X
Candidate Answer:

X

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'U' can be represented by 01, 12, etc., and 'L' can
be represented by 56, 67, etc. Similarly you have to identify the set for the word 'SPARE'

faffad uy & fReed 7 T U Yor-agg, siert & &) aif gRT <2 U 8, S b i RRw mu < ooyl & 1 aifedg 1 % Yo iR Uy Bl ¥emo A4 db AL 8,
sh?agn%sﬁwas:ramﬁ%w 3feR Pl Ugd I} UlaT SR a1 T TR TR GRT SR ST avelT § | I&TERUN 3 o, U Y 01, 12, 3T GRT =it S el
B AT LB 56, 67,311 GRI =TT S el 81 S RE U AU {3 Reg; 'SPARE' o folT WHg 1 UgaT 2|

Wik |= | O
S|l m|D| v O
o m|(>™|wv | '—'|
m| (=2 | »n | C || &
b ¥ o | m | w
wm|c|lw|m|xo| &
Ooe |~ u
-l Z2|0|6G|w
> 2|0 E\ll— =2}
Z| 0|, l—|:b- ~
(=2 N :L‘».Z o
Q|| > ZID o

4

Options:

1) 22, 41, 85, 32, 14
2) 12, 24, 21, 68, 14
3) 44, 78, 67, 32, 42
4) 33, 30, 43, 40,43



Correct Answer: 22, 41, 85, 32, 14
Candidate Answer: 22, 41, 85, 32, 14

Question 26.Golden Hand Shake scheme is the name of

"Tice §U8 Y FEftfed # 5w diemT 1 1@ &k AW 82
Options:
1) Retirement Scheme

2) Voluntary Retirement Scheme

3) One Rank One Pension Scheme
T 3 Tb YA T
4) Private Sector Retirement Scheme

Correct Answer: Voluntary Retirement Scheme

Candidate Answer: Retirement Scheme

Question 27.Indian Constitution can be amended according to the procedure laid down in the following Article

Frofofea # 9 g sr=de @ SRV % d8d YR JfauF F TN a1 o 9o § 2
Options:
1) Article 368
TG 368
2) Article 345
345
3) Article 351

3G 351

4) Article 333
333

Correct Answer: Article 368
TG 368

Candidate Answer: Article 368

TG 368

Question 28.Who is the Vice Chairperson of NITI Aayog ?

ey ST BT IuTeHE B B
Options:

1) Dr. Bibek Debroy

3. fad®

2) Dr. V.K. Saraswat

31, d1.%. IRwd

3) Dr. Arvind Panagariya
EISNCCACENIE

4) Arun Jaitley

30 et

Correct Answer: Dr. Arvind Panagariya
81

Candidate Answer: Dr. Arvind Panagariya

SleRfde giean

Question 29.The city of Vijayanagar is also known as

SR R 3R g T A ST W B 1
Options:

1) Halebidu

2) Chandragiri

3) Hampi

il

4) Kondavidu

Correct Answer: Hampi

Candidate Answer: Chandragiri

Question 30.Which of the following Sultans of Tughlaq dynasty issued copper coins instead of silver ones?

fufarad grree! Jeder & g geaar 3 9id & Rigs! & wH R ale & e gan 2 2




Options:
1) Ghiyasuddin Tughlaq

2) Muhammad bin Tughlaq

3) Firoz Shah Tughlaq

[ERERIGURED

4) Mahmud Tughlagq

HeHa b

Correct Answer: Muhammad bin Tughlaq
Hewe for i

Candidate Answer: Firoz Shah Tughlaq
[ERERIHGRGED

Question 31.Which of the following areas or regions is most prone to earthquakes?

frafefad &  ar & T § 98l W Yeby 3 Y IHET 9 J 31 82
Options:

1) Deccan Plateau

ST (S3HT) HT ISR

2) Ganga-Brahmaputra Valley

TT-SEg aret

3) Plains of northern India

I YR BT A &

4) Western Ghats

gigt are

Correct Answer: Ganga-Brahmaputra Valley
TT-Segs aret

Candidate Answer: Ganga-Brahmaputra Valley

TT-Segs arct
Question 32.Honey that has high concentration of sugar does not decay because

5a, Forw WIaR Bt I s U S ¥, TS T § i
Options:
1) Bacteria cannot survive in an active state as it is totally deprived of oxygen
Ee RIS BT 3H1T gl 7 3fck: SaTy] Wby eraw # sffad =1t @ urd
2) It contains natural antioxidant that prevents bacterial attack

’ : ' % 3TBHUI B AP od §

3) Bacteria cannot survive in an active state in a solution of high osmotic strength as water is drawn out

I IR I & Oid § ur R oF & HROT Shang] i sraer § shfdd 78w ua
4) None of these_

Correct Answer: Bacteria cannot survive in an active state in a solution of high osmotic strength as water is drawn out

I IR 92 & G| § Ut Fed o & SRUT Shiam] Ifhy srawr 7 sifdd 8 3§ uid
Candidate Answer: It contains natural antioxidant that prevents bacterial attack

T Ul TleieRISe id € Sl STy 3 ST Hul bl b ad

Question 33.At low temperature, Lead behaves as a :

D AUHET R T Fefarad fa = v & gdfa aRar g2
Options:

1) Semi conductor

3 Tres

2) Super conductor

g TS

3) Insulator

e e (GUIHRIT

4) Conductor

EINED

Correct Answer: Super conductor
g TS

Candidate Answer: Semi conductor
3ef aras

Question 34.In networks, a small message used to pass between one station to another is known as

Fegd T TR W, O U W ¥ GOl R & |61 8, TN HEAI § ?
Options:
1) Token

2) Byte
EIES

3) Word
I8

4) Ring
&1

Correct Answer: Token



Candidate Answer: Token

Question 35.Which of the following is a natural polymer?

fofafad & & 39 91 te wplis Ui § ?
Options:

1) Bakelite

2) leon

BIESIGE

3) Polythene

LI

4) Starch

wrd

Correct Answer: Starch

Candidate Answer: Starch

Question 36.Which of the following mammals lay eggs?

frafefed & § S 91 WU e 318 1) ?
Options:

1) Bat

ELUIES]

2) Whale

3) Weasel

Jgar

4) Platypus

Wy

Correct Answer: Platypus

Candidate Answer: Whale

Question 37.Akbar's tomb is located at which of the following places?

3BER BT HheRT MUfHET g T R a3 2
Options:

1) Sikandara

Ry

2) Agra

BRI

3) Fatehpursikri

4) Allahabad
ENIGIEIE

Correct Answer: Sikandara

Candidate Answer: Fatehpursikri

Question 38.Pt. Bhimsen Joshi is associated with which of the following fields?

ufEd e Sih ol # 9 g 8 3 Tdy wad 82
Options:

1) Literature

2) Social services

3) CIass[caI music

4) Politics

QTR

Correct Answer: Classical music

Candidate Answer: [ NOT ANSWERED ]

Question 39.Security Council of the UN comprises of 10 non-permanent members and their tenure is

T Y BT GREM RS F 10 SRR T T HTiBIe a1 gell @ 2



Options:

1) 5 years

59y

2) 4 years

499

3) 3 years

399

4) 2 years

299

Correct Answer: 2 years
299

Candidate Answer: 3 years
3ay

Question 40.'Tripitakas' are sacred books of

Biftes o 77 &1 Gy feg v 48 ?
Options:
1) Hindus

<

2) Jains

SEl

3) Parsis
IR

4) Buddhists
=

Correct Answer: Buddhists

Candidate Answer: Buddhists

Question 41.If a country devalues its currency, its

T B AT U YT BT ST BT 8

Options:

1) Exports become cheaper and imports become costlier

forafer e ot Smard wE €Y S 8

2) Exports become costlier and imports become cheaper.

forafa JEe quT ST T 8 ol &

3) Exports value is equivalent to imports value

frafa e amard Hed & SRR g W §

4) No effect on exports and imports

Frafa aur M R P uHE Tt usdr

Correct Answer: Exports become cheaper and imports become costlier
forarfar e qT S w8 o 8

Candidate Answer: Exports become cheaper and imports become costlier
forarfar o T S w8 ST 8

Question 42.Which one of the following non-metals shows allotropy in the liquid state?

FroffEd & B T eiurg U=t aRelT R T STIRUaT Uefid Hram § ?
Options:

1) Carbon

EacE]

2) Sulphur
ety

3) Phosphorous
BIRBRY

4) Bromine

Correct Answer: Sulphur
et

Candidate Answer: Bromine

Question 43.Sectoral distribution of GDP index measures,

ot 31, gEpicr & AR fAavor & e o1 ATo fahar S Weha 87
Options:

1) Agriculture development of a country

A PT B ek

2) Economic development of a country

1 &1 ol Ay

3) Social development of a country

N

4) Socio-Economic development of a country

2 T IS U7 31 [y

Correct Answer: Economic development of a country
T HT



Candidate Answer: Economic development of a country

w1 1 3ffep farg

Question 44.Ragini is a popular form of folk song belonging to the State of

M e T B AB iR i e 82
Options:

1) Kashmir

IR

2) Kerala

A

3) Haryana

4) Manipur

Correct Answer: Haryana

Candidate Answer: Haryana

Question 45.Which of the following border is known as Radcliffe line ?

g B B b S YeR X Seed § ?
Options:

1) India and China

YRA qUT I

2) India and Bangladesh

URT T SFEIC

3) India and Pakistan

YRA T T

4) India and Afghanistan

YR TUT

Correct Answer: India and Pakistan
URT qUT Ul

Candidate Answer: India and Pakistan
HRA T

Question 46.Deepika Kumari is associated with which of the following sports?

T $UR &1 ey Fefafea ¥ ¥ fra@ad g ?
Options:

1) Archery

dRarsit

2) Gymnastics
3) Bgdminton
eftieq

4) Athletics

Correct Answer: Archery

Ca!ndidate Answer: Archery

Question 47.What does the term 'Ebola’ stand for?

"SRl Weq, F T FT THLA & ?
Options:
1) A viral disease outbreak in West Africa
gyt BTt o T w9 g
2) A viral disease outbreak in Bangladesh
eI H T fawmg
3) A city in Syria destroyed by ISIS.
TS, TY. 31TS. T, R e s wan i &1 T TR
4) None of the these
o1s W ey Tt 7T
Correct Answer: A viral disease outbreak in West Africa
o U fawmy) T Uy
Candidate Answer: A viral disease outbreak in West Africa

gyt 3t o T w9 gy

Question 48.The virus of AIDS affects the growth of
TS &1 fawny fuet gfe &l mufdd =arg 2



Options:
1) Haemoglobin
FUIITE]

2) RBCs in blood
ad # SRS,

3) T cells in blood
& B . DIk

4) Grey cells in brain

Correct Answer: T cells in blood
A A
Candidate Answer: Haemoglobin

Question 49.Which of the following is not a nitrogenous fetiliser?

ol & B TR Save eI E ?
Options:
1) Ammonium sulphate

2) Urea
3) Ammonium nitrate

4) SuperphosApohate
TR B
Correct Answer: Superphospohate
IR BIEbhe

Candigate Answer: Superphospohate

LS

Question 50.The absolute zero is a temperature at which

RO a9 $ I8 R B T wR

Options:

1) molecular motion in a gas would cease

A anfoeres T e Tl 7

2) water freezes

ST ST AT §

3) all gases become liquid

Tl 1Y aRellg 81 o §

4) all gases become solid
[ o & ufafdd g1 o €

Correct Answer: molecular motion in a gas would cease

A ar1foees T e @t ®

Candidate Answer: molecular motion in a gas would cease

6 A anfoges i) gen ot @

Question 51.A can do a piece of work in 8 days and B can do it in 10 days seperately. How many days would it take for both A and B to finish the same work
together?

A frft 8 o1 8 7T B % e € 9IR B S T Y 10 37T H % Tha €1 SAET A SR B fasR SU B &1 v G B g 2
Options:

1)

33

8

3)
41

10

4)
42
11

Correct Answer:
40
9

Candidate Answer:
40
9



Question 52.The lengths of the diagonals of a rhombus are 8 cm and 6 cm. The area of rhombus is:

o g & fawuil ot aargal 8 9., qur 6 Q.. 71 THAgS F1 S faa g 2
Options:
1) 96 cm?
96 ¥.11.2
2) 60 cm?
60 ¥.71.2
3) 48 cm?
48 9.11.2
4) 24 cm?
24 9.70.2

Correct Answer: 24 cm?

24 9.11.2

Candidate Answer: 48 cm?

43 Q7.2

Question 53.Two successive discounts of 10% and 20% are equivalent to a single discount of

10% TUT 20% B &1 HHIR Fe {69 THAE g & 9uged 8 ?
Options:

1) 28%

2) 27%

3) 25%

4) 30%

Correct Answer: 28%

Candidate Answer: 28%

Question 54.A and B together have Rs. 6300. If 5/19 of A's amount is equal to 2/5 of B's amount. The amount of 'B' is

A 3R B & U o G Rs. 6300 21 A3 A B 5/19 MR B 3 2/5 AR & SRIaR 81 Y B b U fbrait IR ¢ 2
Options:
1) Rs. 2500

2) Rs. 3800
3) Rs.2300

4) Rs. 4000
Correct Answer: Rs. 2500
Candidate Answer: Rs. 2500

Question 55.1If the selling price of 40 articles is equal to the cost price of 50 articles, the loss or gain percent is

T 40 TX3T BT [AepT Yoo 50 TX3N P T e P SR &1 <Y BI AT ATH BT WA= Ty ?
Options:

1) 25% gain

25% Y

2) 20% gain

20%dH

3) 25% loss

25% I

4) 20% loss

20% B

Correct Answer: 25% gain
25% A

Candidate Answer: 25% gain
25% Y

Question 56.A's income is 25% more than B's income. B's income is what percent of A's income?

AP 3B B 31T | 25% 3P 21 B P 31 A BT 3T B fba ufawra & 2
Options:
1) 80

2) 75
3) 50

4) 25
Correct Answer: 80
Candidate Answer: 80

Question 57.In what time will a train, 60 metres long, running at the rate of 36 km/hr pass a telegraph post?

60 Hicx TS T YS! 36 3. 7. /5eT B 91 ¥ U Tamie & T Pl fhaq g § gR B3l ?



Options:

1) 9 seconds
9 ]

2) 8 seconds
8 THUSH

S

3) 7 seconds

7 2

4) 6 seconds

6 THUSH

Correct Answer: 6 seconds

6 ]

Candidate Answer: 6 seconds
6

S

Question 58.If 5x + 1/x = 10, then x2 + 1/25x2is equal to

TR 5x + 1/x = 10 B A 2 + 1/25x2 T sRIaR BT 2
Options:
1)

2t
5

2)
3t
5

3)
32
5
4)
22
5
Correct Answer:
32
5

Candidate Answer:

32
5
Question 59.
Ifdr=h+ 32+ pz thenr:his?
(r£0)
Y& 4r=h+ V2 + 28 dlr:h
1 G FA13T ? (r0)
Options:
1)17:8
2) 8:17
3) 8:15
4) 15:8

Correct Answer: 8:15
Candidate Answer: 8:15

Question 60.If sinA + sin? A = 1 then what is the value of cos?A + cos* A ?

TR sinA + sin? A = 1 81 Y cos?A + cos? A T A Fa1sy ?
Options:

1)1

2)2

3) %

4) 1%
Correct Answer: 1
Candidate Answer: 1

Question 61.Three angles of a quadrilateral are 60°,90°and 100°.Then the fourth angle of the quadrilateral is

ol T & i 1T 600, 900 3R 1000 F B | FART TGS BT AT HIUT e €I 2



Options:
1) 95°

2) 100°
3) 110°

4) 115°
Correct Answer: 110°

Candidate Answer: 110°

Question 62.Which one of the following is true for 0°<6<90°

0°<0<90° F fom Fufafed ¥ IR T | 2
Options:

1)

cos@ >cos?@

2)
cos@ <cos?@

3)
cosf = cos?@

4)
cos@ = cos?@

Correct Answer:
cos@ >cosi@

Candidate Answer:
cos@ = cos? @

Question 63.

3x9"+149x3 In-1
The value of —————is equal to?
9x3 “"—6x9"

339"l gy3In2 %u?
93— pgxgn 1 :

Options:

1)

3
b
3

2)

3=
I

3)
3t
5

4)3

Correct Answer:
3E
5

Candidate Answer: [ NOT ANSWERED ]

Question 64.If the average age of four children is 12 years and the average age of these children and their fathers is 20 years, what is the age of the father?

Tfe 4 =il B 2fgd 3i1g 12 o T 37 T SR I fUen ) 3N 2mg 20 af €1 ot ar Bt oy fpa ® 2
Options:

1) 52 years

52 9%

2) 48 years

48 99

3) 62 years

62 I

4) 54 years

54 9%



Correct Answer: 52 years

529y

Candidate Answer: 52 years
5299

Question 65.If a+b=3 then the value of a3+b3+9ab-27 is

TfE a+b=3 B a a3+b3-+9ab-27 T A TR ?
Options:
1) 24

2)25
3)0

4) 27
Correct Answer: 0
Candidate Answer: 0

Question 66.If x+1/x = 2, then the value of x’+2/x% is equal to?

R X + 1/x = 2 BV A X7 + 2/x6 BT A Faradf ?
Options:
1)0

2)1
3)2

4)3
Correct Answer: 3
Candidate Answer: 3

Question 67.In AABC two medians BE and CF intersects at the point O and P,Q are the midpoints of BO and CO respectively. If the length of PQ=3cm, then the length
of FE will be

e ABC H & Wem @I BE 3R CF fig 0 W et § @ BO 3IR €O TR HHRE: P 3R Q Wed fg 81 afe PQ &1 avae 3 A1, €1l FE &) v m gt 2
Options:

1)3cm

39

2)6cm

6 9.4,

3)9cm

o q.A.

4) 12 cm

12 9,

Correct Answer: 3 cm
3.

Candidate Answer: 6 cm

6 .11,

Question 68.In a triangle PQR, S and T are the points on PQ and PR respectively, such that ST II QR and PS/SQ=3/5,PR =6cm, then PT is

PQR YW &, S 3R T RN PQ 31k PR TR &1 farg §1 ST I QR 3R PS/SQ=3/5, I PR = 6 Q. 4. &), & PT BN 2
Options:

1)2cm

299,

2)2.25cm

2.259.4%

3)3.5cm

3.5 9.1

4)4cm

491,

Correct Answer: 2.25 cm
2.25 9.4

Candidate Answer: 2.25 cm

2.25 9.4,

Question 69.1f 5 sin26+ 4cos? 6= 9/2 and 0 <B<I/2 then tand is equal to?
T 5 sin20+ 4cos? B = 9/2 BT 3R 0 <6<M/2 B Al tand fHTe SRISR 81T 2
Options:

1)1

2)0

3)-1

4w



Correct Answer: 1
Candidate Answer: 1

Question 70.If Rs. 10000 amounts to Rs. 11664 invested in compound interest(compounded annually) for two years then the annual rate of compound interest is

I Rs.10000 &1 R 2 T & Thglg W W (TIMF ¥ & VAT ) Rs. 11664 T WKl & &l Tohaleg S P TP &R TR ?
Options:

1) 10%

2) 9%

3) 8%

4) 6%

Correct Answer: 8%

Candidate Answer: 8%

Question 71.From the top of a tower 60 mts high the angle of depression of the top and bottomof a pole are observed to be 45° and 60° respectively. If the pole and
tower stand on the same plane, the height of the pole in meters is

60 Hiex Jeft ol HR & e 24171 9 fobeft vl & <] SR et b SfeFT ivT sHas: 450 3R 60° o 3 &1 3 5wl SR HHR T &1 TR WR &1 eff Hiex & el
1) 60(v3-1)
2) 20(v3-1)
3) 20(3-V3)

4) 20(v3+1)
Correct Answer: 20(3-V3)
Candidate Answer: 20(3-V3)

Question 72.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

i o = & et 3w gRT e o Ry & ol Sagel R T 31 18 IR gl v 1 Ur = T sremm Hife SR us & IR Ao |

Tennis

10%
10%
Others

12%%
Basket ball

The ratio of the amount spent on football, basketball and cricket to that spent on tennis,hockey andgolf is

Peald ,SRbedid 3R v & HW 63 T8 T qur 29, STt iR ek & FWR T T T F SquId SaEy ?
Options:
1)5:7

2)7:5
3) 15:1

4) 3:20
Correct Answer: 7:5
Candidate Answer: 7:5



Question 73.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

fafifed o =@ § fd ow gr1 ot af Aty it ol R T &t 78 TR <l 7 ¥ 1 TS = b1 renT STy ik Ui & IR AR |

Tennis

10%
10%
Others

12%%
Basket ball

If the total amount spent on sports during the year was Rs. 1,20,00,000 how muchwas spent on basketball

I I & GRM VAHE IR Rs. 1,20,00,0008! AR T 3 71 df IRpe i R a9 @ ot 7€ 2
Options:
1) Rs. 950000

2) Rs. 10,00,000
3) Rs. 12,00,000

4) Rs. 15,00,000
Correct Answer: Rs. 15,00,000
Candidate Answer: Rs. 15,00,000

Question 74.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

Frofofeg o =rd & ot 3w gRT et o TRy & iy Tagel &R T 31 18 IR gxif v 1 Ur = T sremm Hife 3R us & IR A |

Tennis

10%
10%
Others

12%%
Basket ball

Total central angle showing the money spent on hockey,football and other during the year was

B B0 I, Feaid 3R gk Bdl IR gU WY &I - g ?
Options:
1) 104°

2) 244°
3) 96°

4) 144°
Correct Answer: 144°
Candidate Answer: 144°



Question 75.The pie chart drawn below shows below the spendings of a country on various sports during a particular year. Study the pie chart and answer the
questions.

fafifed o =@ A fd ow grr ot af sy it ol IR T &t 78 TR <t 7 ¥ 1 TS = b1 renT STy ik Ui & IR AR |

Tennis

10%
10%
Others

12%%
Basket ball

If the money spent on cricket during the year was Rs. 20,00,000, then the money spent on tennis was:

T I8 & SRM e TR Rs. 20,00,000 Bt AR T B T8 o) T W et I T 1 718 ?
Options:
1) Rs. 8,00,000

2) Rs.10,00,000
3) Rs. 80,00,000

4) Rs. 40,00,000
Correct Answer: Rs. 8,00,000
Candidate Answer: Rs. 8,00,000

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

ADAPT

Options:

1) BRING UP

2) ADIUST

3) ENCOURAGE

4) SERVE

Correct Answer: ADJUST

Candidate Answer: ADJUST

Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

ARID

Options:

1) DRY

2) FERTILE

3) BARREN

4) FALLOW

Correct Answer: FERTILE

Candidate Answer: FERTILE

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Definite

2) Diffinite

3) Defenite

4) Difinite

Correct Answer: Definite

Candidate Answer: Definite

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Why you (A) / copying your homework (B) / from someone else? (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A



Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

There is (A) / few time (B) / for preparation. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

All my hope (A) / were duped (B) / and I was plunged in deep sorrow. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Naresh made a fortune buying and selling used cars.
Options:

1) at

2) by

3)in

4) on

Correct Answer: by

Candidate Answer: on

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

She has finished writing the article,
Options:

1) has she?

2)isn'tit?

3) hasn't she?

4) is it?

Correct Answer: hasn't she?
Candidate Answer: hasn't she?

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

An animal species becomes
Options:

1) exist

2) existing

3) extinct

4) extract

Correct Answer: extinct

Candidate Answer: extinct

when its last existing member dies.

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Catch a tartar

Options:

1) To catch a dangerous person

2) To deal with a person who is more than one's match
3) To trap a wanted criminal with great difficulty

4) To live carefully and cautiously

Correct Answer: To deal with a person who is more than one's match
Candidate Answer: To live carefully and cautiously

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Cap in hand



Options:

1) Defiant

2) Screaming

3) Well behaved

4) In a respectful manner

Correct Answer: In a respectful manner
Candidate Answer: In a respectful manner

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

In the blues

Options:

1) Cheerless and depressed

2) Violent and angry

3) Wearing blue badges

4) Singing sad songs

Correct Answer: Cheerless and depressed
Candidate Answer: Violent and angry

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A notice of a person's death
Options:

1) Memorandum

2) Obituary

3) Reminder

4) Rejoinder

Correct Answer: Obituary
Candidate Answer: Obituary

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An animal that lives in groups
Options:

1) Hoard

2) Fastidious

3) Gullible

4) Gregarious

Correct Answer: Gregarious
Candidate Answer: Gregarious

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Hard working and diligent
Options:

1) Seditious

2) Sedate

3) Sedulous

4) Scheming

Correct Answer: Sedulous
Candidate Answer: Sedulous

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

When in doubt check it up with a good dictionary.
Options:

1) check it up in

2) checkitin

3) check it with

4) No improvement

Correct Answer: check it in

Candidate Answer: check it with

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

At the present rate of exchange, fourteen dozen cost Rs.3000.
Options:

1) dozen costs

2) dozens cost

3) dozens costs

4) No improvement

Correct Answer: No improvement

Candidate Answer: dozen costs



Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Can you believed this is the same old and the dilapidated house I had bought last year?
Options:

1) Can you not believe this is the same old and the dilapidated house that I buy last year?

2) Can you believe this is the same old and the same dilapidated house I have bought last year?
3) Can you believe this is the same old and dilapidated house I had bought last year?

4) No improvement

Correct Answer: Can you believe this is the same old and dilapidated house I had bought last year?
Candidate Answer: Can you believe this is the same old and dilapidated house I had bought last year?

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

If the sky is overcast, I take my umbrella with me.
Options:

1) When

2) Unless

3) Whenever

4) No improvement

Correct Answer: Whenever
Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The artist claims to have royal blood in his veins.
Options:

1) hand

2) head

3) forehead

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

We experience sleepiness in the morning because
Options:

1) we eat breakfast

2) we miss breakfast

3) efficiency goes down

4) we feel tired and sleepy

Correct Answer: we miss breakfast
Candidate Answer: efficiency goes down

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

We eat unhealthy food when
Options:

1) we suffer from hunger

2) we have become overweight
3) we have skipped the first meal
4) we love chips, burgers etc.

Correct Answer: we have skipped the first meal



Candidate Answer: we suffer from hunger

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

A good breakfast

Options:

1) keeps you active

2) causes memory loss

3) boosts performance

4) keeps you active; boosts performance

Correct Answer: keeps you active; boosts performance
Candidate Answer: keeps you active; boosts performance

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

An ideal breakfast should contain

Options:

1) carbohydrates, proteins, fats, minerals and vitamins
2) some food groups

3) only high fibre and protein

4) foods of our choice

Correct Answer: carbohydrates, proteins, fats, minerals and vitamins
Candidate Answer: carbohydrates, proteins, fats, minerals and vitamins

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Without breakfast, all of us - irrespective of age - are likely to experience the late morning slump; tiredness, sleepiness and the urge to sit back. Our efficiency goes
down further as the day progresses.Moreover, skipping the first meal of the day leads to intense hunger pangs by late morning and we end up eating chips, samosas,
burgers or other high-fat unhealthy foods. Breakfast-skippers are more likely to be overweight. A good breakfast leads to a more active, productive day. Research has
found a definite connection between skipping breakfast and memory impairment in both young and older adults. Moreover, breakfast is directly linked with
performance in school and college. Breakfast should contribute at least one-fourth of our daily requirement of nutrients. An ideal breakfast should contain adequate
amounts of carbohydrates, proteins and fats in addition to minerals and vitamins. Essentially this means including most of our food groups in the morning meal. Whole
grain cereals - like atta in parathas and puris, dalia, suji, etc. are an integral part of the traditional Indian breakfast. Their high fibre and protein content provides a
feeling of satisfaction, which lowers the urge to snack before lunch. On the other hand, high-sugar foods actually make people sleepier, not active.

Milk, cheese, eggs or dals (as sprouts in idli or dosas or as sambhar) are other protein sources. A serving of milk (one cup) provides B-complex vitamins and also
minerals like zinc, magnesium and calcium. Fruits or vegetables provide valuable vitamin C and keep constipation away.

Breakfast is satisfying when

Options:

1) it is rich in fatty foods

2) it contains high protein and fibre content

3) itis rich in carbohydrates, proteins and fats

4) we eat to our heart's content

Correct Answer: it contains high protein and fibre content

Candidate Answer: it contains high protein and fibre content



